Chapter 9 Political Parties
· In the 2006 midterm congressional elections, the reason people voted for the democrats was 4:1 in favor of “wanting a change in leadership” over “I like their policies”. This goes someway to explaining why there has been a fair amount of dissatisfaction with Obama despite how popular he was initially. In many ways, people voted for him because he was not McCain.
· Political Party membership in America is effectively painless due to its decentralized nature. In the past parties would more often mobilize their base to do door-to-door solicitations and host social events. This is less common now, mainly due to a movement away from a strict party system and other campaign reforms.
· A party needs to be strong in three areas to be considered a strong party. Those areas are:

· Label: this is what people identify with a party. On the whole, labels are a bit weaker then what they were. This is evidenced by the growing number of independants and self-proclaimed moderates. 

· Set of Leaders: These people organize the government and will consistently remain strong.
· Organization: Organizations, which nominate and elect candidates, have become much weaker since the 60’s as parties generally don’t say who gets nominated as it is carried out through primaries and caucuses.

· In Europe, people are nominated for office by the party.

· American political authority is decentralized due to federalism which means that different parties at different levels have different goals. Additionaly, our president is elected out of a separate election (European, specifically Parliamentarian systems have the head of government selected from the party with the largest number of votes.)

· Again, active political participation plays a much smaller role in the life of the average American then in the life of the average European. 
· The first organized political party in America was Jefferson’s Republicans in opposition to Hamilton. (The name Republican was in part chosen to try and paint Hamilton as a Monarchist.) Hamilton then chose the name Federalist in hopes to paint his opponents as enemies of the Constitution. These two parties are considered to be the first party system.
· The Federalists were not very successful, with Jefferson being re-elected in 1804 with nearly no opposition. The near disappearance of the Federalists was chalked up to there being no inborn party loyalty to defend. 

· The two parties were not strict ideological groups and more often then not they were organized around the local notables in the town.

· The second party system began in 1824 with Andrew Jackson first running for president and lasted until the Civil War. IT was characterized by mass participation from new voting laws. The party system was built from the ground up as a result of abandoning the Congressional Caucus system of presidential nominations (members of congress would nominate a presidential candidate). It was replaced with National Conventions made up of the electors from each state. The first major party to have a national convention was the anti-Jacksonian republicans in 1831.
· The third party system began after the Civil War and was characterized by sectionalism. The Whig party had virtually disappeared, the Democrats were confined to the south, and the new Republican party was in the north. While there had been quite a few democrats in the north, a lot of them went away after William Jennings Bryan (remember APUSH) became the democrat nominee.
· Because states were effectively one-party, factions emerged in the party, specifically, between the ‘Old Guard’ and the reformers who were against the political machine. 

· The 4th party system was characterized by reform carried out by the progressives/reformers. They intended to break the power of the political machines and reduce voting fraud. They managed to get the initiative and referendum passed in California, but the progressives didn’t really weaken the party system, merely curtailed it.
· Critical or Realignment periods occur after issues that have separated parties change, requiring the parties the change as well which means a different set of voters supports them. Some re-alignment periods are:

· In 1800 when the Jeffersonian Republicans defeated the Federalists. Federalists were no longer seen as effective
· 1828 when the Jacksonian Democrats came to power.

· 1860 when the Whig party collapsed and slavery no longer became an issue. The Democrats also split.
· 1896 when the Republicans defeated Bryan (country became more sectional). The populist Bryan (democrat) had split the democrat party. This meant the north/south split became east/west with the Democrats taking the Midwest.
· 1932 when the Democrats under Roosevelt came to power. Roosevelt brought together the urban and rural areas.
· The result of all these changes (and Reagan’s election in 1980 by capturing the religious vote) has basically given us the current political landscape. The Roosevelt Democrats do well in urban areas and North while the Republicans do well in rural areas and the south. 
· Many people believe Reagan’s election was not a re-alignment period as the issues at hand remained effectively the same and congress still rested in the hands of the Democrats. Reagan’s election was also a reaction against the economic stagnation we had been experiencing. Basicaly it was a movement to kick out the incumbent and hope the next guy is better.

· People today tend to split their ballot by voting, for example, a republican president and a democratic senator. This is more common now due to decreased party affiliations and the absence of party-printed ballots.
· Political parties are not arranged like a corporation or with a strict hierarchy. On the effective level, each level of a political party has practically its own organization.
· The Republicans and Democrats organized their National Conventions differently in the 60’s. The republicans became far more organized then the democrats who began apportioning seats based on the group the member was part of. After the democrats lost the nest few elections, they reformed into a far more bureaucratic form of party, much like the republicans. 
· The republicans did so well through their organization because of computerized mailing where they were able to hit up donors from past years for donations in the coming election, giving them a bigger budget. Most of the revenue of parties go to individual states to help out their candidates with ads or polling.

· Disputes can often emerge over how delegates to conventions are appointed. The democrats had a problem with this in the 60’s due to the conflict between favoring the traditionally loyal ‘Dixiecrats’, or the more successful Roosevelt Democrats. The Democrats decided to go with the Roosevelt democrats and the ‘Dixiecrats’ eventually joined up with the Republicans.
· The Democrats tend to favor larger states while the republicans favor loyal states.

· The democrats tend to place emphasis on young people, women, and minorities. Republicans don’t really. The dems reduced the influence of these factional groups in the late 80’s to appear more ideologicaly unified.
· Both parties, as a result of ideological shifting, both now ostensibly represent the middle class with the rich slightly favoring the republicans and the poor slightly favoring the democrats. Because the middle class tends to be more conservative, the Republicans have done fairly well. The dems were unable to keep their he’ fty lead in the lower class unions in large part due to the ‘Reagan Revolution’ and the republican emphasis on social issues over economic.
· Political machines were common in the late 19th century. They would reward faithful party members with comfortable jobs and government contracts. They would often serve as welfare agencies to some degree in an attempt to gain the support of the immigrants. More often then not, immigrants would vote according to which party was giving them more stuff, not any ideological leaning.
· Due to the abuses of the machine, they were curtailed with voting reform, reducing the number of patronage jobs, making contracts competitive, and noteably with the Hatch Act of 1939 where federal employees were forbidden from taking an active role in campaign management.

· Despite ideological groups generally being relegated to nonentities in third parties, sometimes they manage to take hold in the main parties. Ideological groups managed to curtail the power of the political machines. With the myriad issues now, generalized ideological groups are increasingly being made up of various single-issue activists.
· Often, when a political machine looses a lot of power the traditional members form a ‘solidarity club’ which is more interested in remaining part of the ‘political elite’ and serving as a group of friends rather then going out onto the streets to get out the vote.
· Local parties can often be sponsored from other community groups, such as the auto unions sponsoring the dems in Detroit. 

· Some political parties can be run simply through name recognition and building personal followings. These tend to form in one-party states with no established political machines. An example is the Bush family who have attracted a political following.

· One of the reasons the two-party system has endured in America is our ‘winner take all’ election system where the winning party gets everything, the loosing party gets jack. This encourages parties to be as broad based as possible. In France, for example, they have a multi-party system and if a candidate lacks an absolute majority but has at least 1/8th of the vote they get to participate in a run-off election. This encourages parties with similar ideologies to make alliances to ensure they capture a majority in the run-off.
· Additionaly, a two party system is encouraged by the focus on wining individual districts. In many European countries representation is decided based on the proportion of votes earned (this derives from the fact you often vote for the party, not the individual. Individual comes later).
· Independents are the key to almost any election, especially presidential election. This encourages broad coalitions that can literally be defined as ‘those who support the incumbent’ and ‘those who don’t’.
· The lack of divisive events in our nation’s history (we really only have two, Civil War and Segregation) means we have less ‘historicaly divisive’ issues compared to Europe.

· Minor parties tend to be ideological based and rarely tend to do well in the polls. When the Socialist Eugene Debbs managed to get 6% of the vote for president in 1912, that was considered major. 
· Minor parties (like the Populist Party which broke off from the dems) tend to do well when they focus on economic issues. When a major party split it tends to lead to the victory of the other candidate. (Like what happened in 1912. Teddy Roosevelt split off from the Republicans allowing the democrat Wilson in.)

· Political movement rarely produce its own party because the movement tends to be adopted by some other party seeking to enlarge its base.

· Presidential candidates have a unique tightrope to walk. They have to appeal to the moderates, but they have to appease the more extremist views in their own party. Walking between the two without making either annoyed is a rare skill.
· Caucus’s tend to attract more extreme viewpoints then primaries.
